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(2) THILHHE:250E5%, 12,570 A
®(1) 2,000/ x 24,980 A x 11 8 =549,560F M

(2) 2,000/ x 12,570 A x 118 =276,540FH
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@(1) BEISMEEEER  435E5%, 350 A
(2) AMREF-RECELE - HIEERE  1595E5%, 6,350 A
(3) FAEENRHFHE - AT ERLHE  165E5%, 1,750
(4) HIREE:9HEER, 400A
(5) FELRELLA— 25EER, TOA
(6) \REHKEXIEMEK: 265E5%, 260 A
®)(1) 2,000 x 350\ X% 12 8=8,400FH
(2) 2,000 x 6,350 A x 12 8=152,400FH
(3) 2,000 x 1,750 A x 12 8=42,000F M
(4) 2,000 x 400\ x 12 8=9,600FH
(5) 2,000 x 70.A x 12 3=1,680FH
(6) 2,000 x 260 x 12 8=6,240FH
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@1) EEISMEEEER  435E5%, 350 A

2 AIREF-BECELE - EREE 159558, 6,350A

) FFEBIRSHE - AT RSHE 1655, 1,750 A
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2) 2,000 x 6,350 A x 12 A=152,400F F

3) 2,000/ x 1,750 A X 12 A=42,000F F

4) 2,000/ x 400 A x 12 5=9,600F F

5) 2,000/ x 70\ x 128=1,680FH

6) 2,000 x 260 A x 12 A=6,240FH
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